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Answer the foliowing - 1x7
f" e Y .
.. Name (he countrics witli reference o »
afiicl  Rieardo - . dllustrated’ <~ 2148 '
omparative cost advantage theory. K, U5

i
n~ O 4+ Rade.

25
L2\
@ What do you mean by ‘autarky’™
5,( - \u,%(“ ~Cy

“tate True’ or ‘Falsc’
Ricardo 1sed - anly wo_ taclons of
production, namely labovr and capntaat,

in his theory of trade. 1|,
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Fill in the blanks : -

Heclrs‘.her-()hhn uses a tw '
vo-country,

v Cm\gt,- Q‘ EE

j ‘two modei to explain

~ foreign trade.
i} = Staite. two reasons for the coexistence of
S free trade and import duty.
\(q”@}f Define tanif.

2. Answer the following : In4=5

What is the opportunity cost of
producing a commodity?

K, and L, denote capital and labour in
Country | and K, and L, denote capital

;: , and labour in Country il and |f La» {;\2
. 1

;dcnﬂfy the capital-rich country.
_Jb Define the income terms of trade.

@

1 v 3 f‘_ﬂnswcr any three of the following : 5%x3=15
r e " \ ) - 9
3 \.‘) - @ Point out how the Ricardian theory

What is an ‘optimum tariff’?

contr radicts the laissez- faire’ doclrine.

(bj Siate the meaning of factor intensity
reversal with the help of a simple

.\.., dlagram =

\j/bh{)w that gains from trade consists of

gains  in production and gans in
consumption.

14A -4200/201 [ Contuuted |

-

productivity- “inked
@ Explain why a spe
=7 s not only regressive but

\\,9\\“‘?,5 less protection -as
Lt ad valorem duty.

4. Answer any three o

& : m_‘-‘
\'J @ Explain, using usual nofabons, )
e. Do uowi e
terms of trade AP

the

cific duty on imports

also provides
comoa:cd to an

e o]

{ the following : 10x3=30

/‘{}\/é‘qow that the Heckscher-Ohlin theory *
of international irade  does pot ¥ 3
necessarily hold goods when {acior

endowment is defined in physical ©erms.

‘A‘bj/ Bnefiy °  outline
LY

the px’inf‘ii)al

explanations offered for the Leontiel

D paradoy.

{ Explain  how gains from trade 1S

E_ g e """/ distributed

terms of the

Marshall- Ldgewonh offer curves.

y Discuss the factors affecting the terms
b

of trade of a country.

Y

le) Arpue lhe case for frec trade im thc
context of present global scenario.

i

Mﬁng out the effects of tanfl on

consumption, roduchon irade.

revenue and redistr ibution with the help
of partial equilibrivm analysig
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for the questlon.s

e

wn,‘,fs,q.'.

el STUET
F-f’:,_ikl o o2r el G-
\)/What accordmg to R1cardo, was the "

basis for mtematlonal trade? v
l & v
' State True’ or Falézé) oty !

Ohlin introduced thg,elemcnt of ‘space’ to

the factor cndowment analyms to extend
it to the general cguil‘tbnum .analysis.
. Choosc the corract.gn'swcr L e,

In  Heckscher-Ohlin model,  factor
abundan,.ce is deﬁned-;nﬁgms of which

(i Vactor j)ll'(ZCSl
(1) isoth (i) and (iK) - v

(i) None of the above
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W

*he likely effect of a e
s g _l.{u
L PEobress’ Which ic biseq

country ¢ lInpoﬂ_-c
ompetin:

goods Sgctor on its terms of h‘"cpg e

@ Mention one particular situation which

can be termed as a favourable develop-
ment in terms-of trade of country.

{9) What is the efféct of ifiposition of a tariff
on-a, ion's off '
L _tﬁf.mns OECSAEM?C? ST e Jedt

=

2x4=8

and spcc:.ﬁc duty. .,

What is Leontief :‘—par'adox?

Katewis i

4. Answer any three of the following :

A

{c) - Distinguish between the two concepts of

‘%‘-factor eridowment’ and factor intensity’

as propounded by Heckscher and Ohlin.

"t

{d) What role does elasticity of offer curve

5 4’ play in determining the optimum tariff of

a country?

{e) Compare and contrast the two protective

%.’ measures of tariff and quota.

10x3=30

{a) Elucidate the statement—"“Facior
%éndowments theory supplements.. the;- -
comparative cost theory and does not

supplant it".

A
(b) /Discuss the role of international trade as

)g hat does a reversal in {actor intensities an engine of economic growth.
X mply?  NET - : -
s (RS : (¢) Distinguish between single-factor intensity
3. Answer any: three of. thc follomng 5%3=15 /  reversal and multiple-factor intensity
o reversal using suitable diagrams.
{(a)  Elaborate the conccpt of comparatwe :
B cosl advantage’ with a suitable numerical < :
(d) How are changes in a country’s terms of

example.

Define utility terms of trade using usual
notations. What dogs, it signify?

¥
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trade measured? What are the difficulties 4
\ encountered here?
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(ﬂmthIt-‘-ié‘ trade?rpolicy?’ What': are the
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B Countries RN :
& from Lade, because 2. Answer the following GUEsHOnS .

() trade makes firms more U In case of free trade, what happens to

,‘f@ﬁt mﬁ% I:_'I'Peiptl.ve rq:iqua their market '.“/ the relative price of a country’s cxpu;‘t
by « s ¥ ¢ . withify the country and relative domestic

e ORI CEL

(}3 Lall firms take.advantage of Cheap . pﬁcexof l‘.(.S 1mporn i
L&h@ur = J(bl’ \Fna? is meant by tec‘;mcm prr.-gress
11 referc;nc\. to.a counuys ‘.con%mic

.

3

’ . 4l

p

What is a céisiia&ﬁnténsivd_fﬁdﬁétry? y

utp, K. g"i&?{ }f:h i
per worker
WDoeg the relative size of a country aff _“%q
its gams from trade?

3. Answerfany three of thcfollowmggueshons ~
At Lo v : 5%3=15

‘ il *\,/? J Explé.m b sfétemem': sdfwsol ‘@
. -, - (AR L% g B, . « iHnal \
the. te*'m Recipr GCal D‘“'maﬂd g e g o ; "Free frade ES supenor o ns Badd }v :
'53-11(%% ‘1-3 R e s : Sl T -
7 5 . f’w',-e;&‘,-}ﬁf
_ - e Explam Leonucf paradox.
= e U g o gustiaw St woed %&K}‘}m

(Explain the concept ;. 5 bon 3,
Factor«abundance‘ V! tor mtenszﬁ(
o I ks"ggg ek
{d} Exp th the help of offer cums
how the ga;_ns_ from trade - are
d!st:mbuted ,}!A,w
ai what hap ns to je validity oi‘
I-ic aqhev—()hhn thf;brx under facw}
intcpmty reversal, 3\5‘»‘ KN ,}
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- 4. Answer any three of I.he follomng questlons“ - B
e ' - i . T

i
Y £
|

!

oWt wni P f
s 5

a Usin Rxcardxan model, ,e)cplam how
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deterrmne the terms vof trade of a
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% 2. Answer the following questions : s

() What do you understand by f.0.b. and

e <5.1 f m mtematlonal trade account?

m@gﬁq@iﬁ fob %qi‘lfti\
Lc.,uaff f«ua '.“-:f,‘* ) v pye i ' |
}ﬁm sﬁhu from. ok
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{5)

I{ wer any three of the following
guestions : ox3=15

= (a) Explain the limitations of Ricardian
Py ’k theory of international trade. =%
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¥e) Dlscu ss the role of international trade
as an engine of economic growth.

Wwaﬁww@%ﬁwmw
I R = | A A

4. Answer any three of the following
questions : | 10%x3=30

Wﬁm}mﬁmwﬁw&m

{a) Biscuss vanous concepts of terms of
trade. e

R 11 - *
(b) Analyze the effects of }mport quotas .

8 TR T S

‘\% _ = ﬁmﬂmwwﬁl =
S‘ (c) Explcun the, @tyggﬁm theory of

tennatwnal

| T ‘%. ‘71:1) g5 xplam cIEarly “the’ *classxﬁchtlon of v
| - tangs on the ‘pasis o cnié"ﬁ&n and

T AR MW«W 0
AR eI IR
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F
4. Answer the following questions ;
- fa) Discuss various eﬁ'ects of tariff. 10
N W% RS gereTz wicasar %41 |
Or / 9eq]
. /Béﬁnc optimum tariff. Explain the
ud concept of optimum tariffl without
o~ retaliation and with retaliation. 2+4+4=10
I G Fw 7 | R ey s afeong
e RS 1 I AR T 0
(b) gn trade is callcd as an engine of
growth.” Why? 10
W ftee wtaE Rere o @
w " R
Or/=a -

i‘

Explain how factor abundancy is proved

in Heckscher-Ohlin theory.

@ER-¥FR wgfte TamTR riige @

oI N R, I A1
(c) Miscuss the factors affechng terms of
trade of a country. 10
9%\ PR e 56 asmﬁ@ Fq IRFIR
SN <41 1

-
Or / |71
What is reciprocal demand? What does
*  offer curve indicate? Derive equilibrium

&m o{ trade with the help of offer
2+2+6=10

-

47 I RET ST Al 55 e
el

* ok
8A~ 5000/220

"

wvﬂvnﬂmﬁ?aﬁﬁmﬁsﬁmm? -
g

#  FOTH

' ‘

ECONOMICS

( Major )

P;a;per 1 5.4

( International Tra.ih : Theory and Policy )

Full Marks : 60
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; Jar the questions

Answer either :’n English or in Assamese !

1. Answer the follpwing questions 1x787
g am:{tg« e v

Wheritdoes Hmkscher-Oh].in theory hold
good?

aﬁ%ﬁ*ﬁm S cofdur e 2
@Mc}&{m afly one Protective devme b

s FEER R @ 9t W 53
| What happens if the ;




j W&fward shifting of an offer
k curve mean?
' % 'mﬁwwwtﬁvcﬁa@‘a@zm%

e

4 ) - zﬂ%aw G %ﬁz |
2. «Answer the following-questions : 2x4=8
war epeprRd b fo
(a)_ Mention any two gains  from

international trade.
e, gtarR | e o1 =/ Teay F9

Dnsun%l‘:sh between commodity terms
of tra “dhd Pross bartertéfs of trade.
T 2 v wF P RET gl 56T T

{c Ment:em two- advantages*iof free trade.

1% e 1 e o T
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3. Answerany Hhee af the following questions -

&@ﬂg,\@ﬁﬁ el efeE Ted ﬁ’f

Piscuss the effects of protection policy.
Seqmey Moy doiez Aol F9 4
Examine the effects of export subsidy on
an economy.

R e 4G TEPTP e AR

91
{c “The effects of tanﬁ and quota are

equivalent.” Explain.
oy wpe AT PR EI_EW{QW_FI
BRI SIR

//‘rhe domestic “cost rattqs of two goods

}“f
&

and Y between two countries A. and B
are 5X:10Y and S5X: 15Y respectively.
According to the, ﬂwory of comgaratwe
cost, in which good A and in which good
B will specialize?
Eﬁrxmrﬁqﬁﬁa% X W Y I
PR, e T R SX: 10}’ srﬁ:
SX:15Y. ‘?F{W "W
e A cet WF @ERY
fo@ead R ?

fe} Explain the concept of single-factor
intensity reversal.

T RS 2 ReRiegIer wRNfe =

I
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(¢) -Discuss the various effects of import

: .. Or/ =\l

\/'lfefme factor endowment. With a
suitable diagram, explain the price
criterion of modern theory. 2+8=10
T eper AgE frun | TR Baw e

R o @ R I =0 ;

A how gains from trade is

distributed in terms of the Marshall-
Edgeworth offer curves. 10
WEF-ERLR AT IFA TS MR ORI
o R fea feRq 30 =W, Imm =0

Or / 941

aborate the various arguments in

favour of protection.

w1 RS g 3¢ 391 |

quotas under partial equilibrium

analysis.
P ST Remae st f ReRe
ffen gz R wgem- 901
Or / 9%«1

\/Expla}in how the welfare of a country is
ensured with the help of an opumum
tariff structure.
1 B TR TS e @¥7d Fem R
oS =, M ¥

kK "
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‘Full Marks : 60
Time : 3 hours

+

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following que;'tions ; <77 e

o TR T o
(@}~ Who developed the concept of income
y terms of trade?

o e 5601 @ TR FRfRE 2

‘Define offer curve.
o aerd i T |

Jy) Write True or False :
q e
" Inelastic reciprocal demand means
- favourable terms of trade of a country.
wftfowrer oreeefle vk (el 9T ST
qfdes B3 gaN |

yalie

A9 /204 { Turm Over )




/(d} ‘What is mixing quota?
R «Rme fAdrs 72
ﬁ Who called the utility terms of trade as
the true terms of trade?
A o e mé? wm WOE
Roice wr=m fes 7 4l
& e wie f

State the optimum tariff formula. e ,617
T T Iiﬁ I = =

2. Answer the following questions : 2%x4=8
o YR T A

- Distinguish between specific tariff and i

ad valorem tariff. =

ARmefefie us R THOEE TR TR

sl
[ :'{b} ow changes in technology affect the
: R ‘erms of trade of a country?
aw orid e vEe affeR ARE R
#Sifes 32
What is meant by elasticity of an offer
. curve?

a1 o @R v WA 7

(d) ~Give two important arguments showing
that tarill is better than quotas.

. we e PdRasie tHe O ¢ T

rg( e fe

% A9 /204 (Conrmued,‘

POCO
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&

3. Answer any threeof the {ollormng questions :

_ 5x3=15
Y . o
TR AR R TP SO

g} Expiain &hat happens to the validity of
Heckscher-Ohlin  theory in case of
factor-intensity reversal.
SoER-aREA  RRITIRIOR (RIS (-

e o e 5, M
Ewlmn Leontxef paradox.

\/ RO T T

) riefly diSClJSS the gains from=
international trade.

T FER FRER RS WA F

\@/ ‘Analyze the productivity- linked terms of
trade by using usual notations.

yoRRs Wges B wwER IR BerFeR
T %@ e vz Roms 74 1

_){s}/dear!y state the classification of tariffs
on the basis of retaliation.

4RriR RBRee we ocfRoms  =«Bsia

o=
4. Answer the following questions : 10x3=30
o P SR
,»W‘J/ Critically discuss the comparative cost
' advantage model. 10
FECEBIGFONL. FFAT HRYR I S g
I 4 |
A9/204 (Tum Over)




(b) Define factor-abundance. What
happens to  .the validity of
Heckscher-Ohlin model when demand
conditions are different in two
countries? Explain with a suitable
diagram, 2+8=10
SomR-apfers wew fn 1 afon g oo
vEn 5% o =W oW aER-wRE Sw
QHeR R 906 2 Toe av e e w41 1

Or / 9931

Argue the case for free trade in the
context of present global scenario. 10

Trefee sye faR Atefie 1o afdes
s e

{c) Discuss the various effects of tariff
under partial equilibrium analysis. 10
irfe eeTw Remse vs Rfss goomz
ey s =0 1

Or / 9391

Define optimum tariff. Explain with a
suitable diagram how eptimum tariff is
determined. 2+8=10
I E ) | - fewe e =
=, Sy fogd sizwe Irm 39 1

P g
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Paper : 5.4
( International Trade : Theory and Policy )
Full Marks : 60 |

Time : 3 hours — = I

The figures in the margin indicate full marks "
for the questions
Answer either in English or in Assamese
Answer the following questions : 1x7=7
weq PR e e
{a) According to Ricardo, what is the basis
of international trade?
RFrdn wo, wrEifesr e e R 2
(b) Write True or False :
w1 o
Heckscher-Ohlin model will be valid
when factor-intensities are reversal.
o2 Kooy 20 oo oy
@y 'y 1
(c) What does backward shifting of an offer
curve mean? g
GO BTN IEF PO RIS FRIGIA f$
T ?
(d) Who developed the concept of Net
Barter terms of trade?

R e w8 @en Tere R 2
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¥ el What is Pprotection?

- blali: ®) Explai_n the u;lityti:tk_{ed terms of trade
- {) Define reciprocal d y using usual notations.

TR wiR .. Frelde Meeoe bemz arwr 77 Tormien

: ig} : . T e e o TS %qE e vETE G 40 |

& What is unilateral quota?
- P SRR R o {d 3‘21;;’&"’:": tthe . “mit:‘:?‘z S

2. Answer the followi : : 3 Of ost advantage’ theory.
: ; OWINg questions : : 2x4=8 .* = e '{Iﬁ*ﬁ' e S ; 3‘
PRI TR forgy T 0|

(a) State any two factors affecting gains

- il endic: (d) Explain the classification of tariff on the

basis of discrimination.

%"M’GW@ m‘lﬁﬁlﬁ s geiike 91§ @ Rt fofvs w=e cffismns [
Eil
{b) What was the empirical result of
. Leontief’s study? {e) Between tariff and quotas, which one is
T ST wwioies e ¢ wiRe 2 superior and why?
{c) Define income terms of trade. us wF ARMT ffer fsews @wb TR
9
Terre ey 563 view o | bk
(d) Give two non-economic arguments in i 4. Answer the following questions : 10%x3=30
favour of protection. T P Tl fer
- fe foa |
TRIFIR AT ‘ib' bl W 4o m" {a) Explain the factors affecting terms of
3. Answer any three of the following questions : Bl o & countey. 10
=3 b s @9 o (e v Aeide 39 IR
- wer e R o fofbR B o | 2 |
{a) Between ciassxcal theory and z_nodern B e
: theory of international trade, which one
N\ do you think superior and why? Give “Trade as an engine of
“reasons in favour of your answer. growth”—Explain.
s A AEe oY W A O ‘A wtafer fRerm @3 YR
Roge ol @G B I SA T fen9 g
(O eI HACF IRPHR ME @1 _ ~
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